
1) An amount was decreased by 4% to 
$234.00. Find the original amount.

Answer: ____________

2) An amount was increased by 8% to 
$456.00. Find the original amount.

Answer: ____________

3) 595.98 ÷ 25.8

Answer: ____________

4) 7/1 x 10/9

Answer: ____________

5) Find perimeter of 
triangle
a = 652 cm, b = 797 
cm,
c = 857cm

Answer: ____________

6) 2.4 x 38.3

Answer: ____________

7) An amount was decreased by 6.5% to 
$212.00. Find the original amount.

Answer: ____________

8) 31.5 x 1.5

Answer: ____________

9) Find perimeter of 
triangle
a = 323 ft , b = 497 ft

Answer: ____________

10) 18/2 x 13/18

Answer: ____________

11) 8.6 x 13.7

Answer: ____________

12)

Name the type of angle.

Answer: ____________

13) Find the percentage change from 56 
to 98

Answer: ____________

14) 32.2 x 46.9

Answer: ____________

15)

'Name the type of angle.

Answer: ____________
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16) Find area of 
triangle 
a = 501 in, b = 869 
in

Answer: ____________

17) Find perimeter of 
triangle
h = 576 , a = 902 ft,
b = 945 ft, c = 985ft

Answer: ____________

18) Find perimeter of 
triangle s = 604 ft

Answer: ____________

19) An amount was decreased by 8% to 
$103.00. Find the original amount.

Answer: ____________

20) 603 ÷ 18

Answer: ____________

21) 188.5 ÷ 13

Answer: ____________

22) 23.8 x 44.5

Answer: ____________

23) Find the percentage change from 70 
to 93.8

Answer: ____________

24)

'Name the type of angle.

Answer: ____________

25) Find perimeter of 
triangle
h = 856 , a = 887 m,
b = 938 m, c = 
998m

Answer: ____________

26) Find the percentage change from 1 to 
33.4

Answer: ____________

27) Find area of 
triangle 
a = 593 cm, b = 812 
cm

Answer: ____________

28) An amount was increased by 1% to 
$27.00. Find the original amount.

Answer: ____________

29) An amount was decreased by 5% to 
$460.00. Find the original amount.

Answer: ____________

30) 2/12 x 12/10

Answer: ____________
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31) An amount was increased by 10% to 
$317.00. Find the original amount.

Answer: ____________

32)

'Name the type of angle.

Answer: ____________

33) 405.76 ÷ 12.8

Answer: ____________

34) An amount was increased by 3% to 
$112.82. Find the original amount.

Answer: ____________

35)

Name the type of angle.

Answer: ____________

36) 7 x 49.2

Answer: ____________

37) 3/16 x 10/6

Answer: ____________

38) An amount was increased by 7% to 
$233.82. Find the original amount.

Answer: ____________

39)

'Name the type of angle.

Answer: ____________

40) Find the percentage change from 100 
to 65

Answer: ____________

Total: ___ / 40
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Answers:

1) $224.64 2) $422.22 3) 23.1 4) 77/9 5) 2306cm 6) 91.92 7) $198.22

8) 47.25 9) 1317ft 10) 61/2 11) 117.82 12) Acute 13) 75% 14) 1510.18

15) Obtuse 16) 108686.62118765in 17) 2832ft 18) 1812ft 19) $94.76 20) 33.5 21) 14.5

22) 1059.1 23) 34% 24) Obtuse 25) 2823m 26) 3240% 27) 152268.4836077cm 28) $26.73

29) $437.00 30) 1/5 31) $288.18 32) Straight 33) 31.7 34) $109.53 35) Acute

36) 344.4 37) 5/16 38) $218.52 39) Right 40) -35%

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

November 02, 2020

Sr: 02112020-1785

 

http://www.geekschool.co.uk

